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I Use the table to evaluate each expression. Write the letter
of the exerclee in the box containing the value,

RO N o 2

a=3 x=2 n=10

E. X T 3x + 1
S. 16y A. Bn — 4 b=4 y=5 m=12
A. ab H, & E. 7ab
G. nx . 7+ 2y D. 100 - 3y
H. 20 - b F. 5a -9 M. 9n — 4m
[ o H. “3%' " R. ax + by
16| 84| 80|72] 56| 6 | 26| 12] 4 {85 33| 8 {14[49]42][17[20] 2| 7

II Write an expresslon for each exercise. Write the letter of
the exerclse In the box contalning the expresslon.

6 times a number n

S. the product of a number nand 9

T. the sum of a number x and 15 0. 40 divided by a humber x

5. anumber n divided by 12 [. 6 minus a number n

0. the product of 8 and a number x F. the sum of 8 and a number x
~H. 3 more than a number n H. 9 more than a number n

F. 3 less than a number x M. 15 less than a number x

0. 3 decreased by a number n T. 12 decreased by a number n

U. a number x decreased by 40 H. 15 decreased by a humber x

9n | n+9 | 6n | 3-n[12-n|n+12| n+3 | 6-n T’—%
x-15| 8x |Xx-40 | x+1515-x| X _‘}(Q x-3 | 8+x
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Variables and Expressions




